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Introduction

This Familiarization Guide is designed to provide prospective examinees with
information about the Modern Standard Arabic Defense Language Proficiency Test 5
(MSA DLPT5) in multiple-choice format. This guide contains general information about
the test design, the format of the test, its length, its content, the skills tested, and
procedures used in scoring and reporting the scores. In addition, screen shots of what
the examinees will see when taking the test on the computer as well as information on
testing procedures are provided.

Overview of the DLPT5

The DLPT5 is designed to assess the global language proficiency in reading and
listening of native speakers of English who have learned a foreign language as a second
language and speakers of other languages with very strong English skills. The DLPT5
tests measure proficiency as defined by the Interagency Language Roundtable (ILR)
Skill Level Descriptions, levels 0+ - 4 (see Appendix A). All DLPT5s will be delivered
on the computer.

DLPT5s in many languages include both a Lower-Range test and an Upper-Range test.
The Lower-Range test measures ILR proficiency levels 0+ - 3, while the Upper-Range
measures ILR proficiency levels 3 - 4. Examinees will normally take the Lower-Range
DLPTS5; those who receive a score of 3 on this test may be eligible to take the upper-
range test, depending on the policy of their institution. The DLPT5 will be used to
make operational readiness, incentive pay, and training decisions for civilian and
military language analysts in the United States government.

Description of the Modern Standard Arabic DLPT5 in Multiple-
Choice Format

Lower-Range Test

e Test Design
0 The Lower-Range Reading Test contains approximately 60 questions with
about 36 authentic passages. Each passage has up to 4 questions with four
answer choices per question.



0 The Lower-Range Listening Test contains approximately 60 questions
with about 40 authentic passages. Each passage has up to 2 questions
with four answer choices per question. In the test, passages at the
beginning will be played once. After a certain point in the test, examinees
will hear the passages twice before having to answer the questions.

0 For research purposes, some questions are not scored. These questions do
not count toward the final score the examinee receives. Examinees will
not be told which questions are not scored.

o Examinees have 3 hours to complete the Reading Test and 3 hours to
complete the Listening Test. Approximately halfway through each test,
examinees will be given a 15-minute break. The break does not count
toward the test time. For the Listening Test, although the playing of the
passages is controlled by the computer, examinees may take as much or as
little time as they wish to answer the questions. Managing the time
effectively is the examinee’s responsibility, just as it is on the Reading
Test.

e Test Content
0 The DLPT5 is designed to measure proficiency in the target language
regardless of how it has been acquired. For this reason, and because of the
broad proficiency orientation of the test, its content is not tied to any
particular language-training program.

0 The passages included in the test are sampled from authentic materials
and real-life sources such as signs, newspapers, radio and television
broadcasts, the Internet, etc.

0 The passages cover a broad range of content areas, including social,
cultural, political, economic, geographic, scientific, and military topics.

e Test Format: The test includes instructions on how to take the test, examples on
how to answer the questions, and question sets containing the following parts:

0 Orientation: This is a short statement in English that appears before each
passage. Its purpose is to identify the context from which the passage is
taken.

0 Passage: This is the only element of the test that is in the target language
being tested. The maximum length of a listening comprehension passage
in the test is approximately 2 minutes. The maximum length of a reading



comprehension passage is approximately 400 words. Most of the passages
are much shorter than the maximum length.

Question statement: Each individual question is based on the passage, is
written in English, and is posed in the form of a complete question or an
incomplete statement. The questions may ask about what is explicitly
stated in the passage or, in some cases, what is implied in it. Occasionally
questions may ask about expressions that are used in the passage. The
number of questions based on the passage is related to the length and
complexity of the passage.

Answer choices: Each question statement is followed by 4 answer choices,
also written in English, only one of which is the best answer. Each answer
choice is displayed on the screen with a button next to it that examinees
will click to select that choice. Examinees can change their selection by
clicking on a different button.

Upper-Range Test

Test Design
0 The Upper-Range Reading Test contains approximately 36 questions with

about 14 authentic passages. Each passage has up to 5 questions with four
answer choices per question.

The Upper-Range Listening Test contains approximately 36 questions
with about 14 authentic passages. Each passage has up to 3 questions and
four answer choices per question. All passages will be played twice.

For research purposes, some questions are not scored. These questions do
not count toward the final score the examinee receives. Examinees will
not be told which questions are not scored.

Examinees have 3 hours to complete the Reading Test and 3 hours to
complete the Listening test. Approximately halfway through each test,
examinees will be given a 15-minute break. The break does not count
toward the test time. For the Listening Test, although the playing of the
passages is controlled by the computer, examinees may take as much or as
little time as they wish to answer the questions. Managing the time
effectively is the examinee’s responsibility, just as it is on the reading test.

Test Content



0 The test is designed to measure proficiency in the target language
regardless of how it has been acquired. For this reason, and because of the
broad proficiency orientation of the test, its content is not tied to any
particular language-training program.

0 The passages included in the test are sampled from authentic materials
and real-life sources such as signs, publications, radio and television
broadcasts, the Internet, etc.

0 The passages cover a broad range of content areas, including social,
cultural, political, economic, geographic, scientific, and military topics.

e Test Format: The test includes instructions on how to take the test, examples of
how to answer the questions, and question sets containing the following parts:

0 Orientation: This is a short statement in English that appears before each
passage. Its purpose is to identify the context from which the passage is
taken.

0 Passage: This is the only element of the test that is in the target language.
The maximum length of a listening comprehension passage in the test is
approximately 2 minutes and 40 seconds. The maximum length of a
reading comprehension passage is approximately 500 words.

0 Question statement: Each individual question is based on the passage, is
written in English, and is posed in the form of a complete question or an
incomplete statement. The questions may ask about what is explicitly
stated in the passage or, in some cases, what is implied in it. Occasionally
questions may ask about expressions that are used in the passage. The
number of questions based on the passage is related to the length and
complexity of the passage.

0 Answer choices: Each question statement is followed by 4 answer choices,
also written in English, only one of which is the best answer. Each answer
choice is displayed on the screen with a button next to it that examinees
will click to select that choice. Examinees can change their selection by
clicking on a different button.

Because test security and confidentiality are extremely important, examinees should not
discuss test content with anyone.



Scoring

Examinee scores are reported in terms of ILR levels, including “plus” ratings. Lower-
Range tests are intended to cover ILR levels 0+ through 3. Possible scores are 0, 0+, 1,
1+, 2, 24, and 3. Upper-Range tests are intended to cover ILR levels 3 through 4.
Possible scores are 3, 3+, and 4. Separate scores are reported for reading and listening,.

Scores on either type of test reflect current functional language proficiency in reading
and listening as defined in the ILR Skill Level Descriptions (see Appendix A). Scores do
not reflect proficiency in speaking or writing, nor do they reflect examinees” job-related
performance or ability to perform specific language-related tasks under special
circumstance (e.g., reading or listening to a target language passage indefinitely many
times with the aid of supplemental reference materials and information sources).

Scores on the test are based on the number of questions answered correctly. Since there
is no penalty for incorrect answers, it is to the examinee’s advantage to attempt to
answer every question, even if it involves guessing.

Preparation for Taking the DLPT5

The purpose of this publication is to familiarize prospective examinees with the DLPT5
multiple-choice format and general testing procedures. Other than carefully reading
this guide so that the test instructions and format are familiar, there is very little to be
gained from “studying” for the test. The best preparation for the DLPT5 is the
acquisition of a solid base of general proficiency in the target language, both through
formal training, and language exposure and use in a variety of real-life language-use
settings. Examinees should know that study aids (i.e., dictionaries, reference books,
etc.) are not permitted for this test. Note-taking is not permitted for the Lower-Range
test but is allowed for the Upper-Range test.

Instructions for taking the DLPT5

The purpose of this section is to familiarize prospective examinees with how to take the
computer-based DLPT5 multiple-choice Reading and Listening tests. Test procedures
and instructions for both the Reading and Listening Tests are provided.

Test Procedures



This section is to help prospective examinees become familiar with the test procedures
of the MSA DLPT5 multiple-choice Reading and Listening Tests. Screen shots of what
examinees will see on the computer screen are provided along with some explanations
and descriptions of these screens.



At the beginning of the test session, the examinee logs on to the system using a
Common Access Card (CAC) or a user ID and password that were provided when the
examinee registered to take the test. The examinee must click on the [CAC Logon] or
[Submit] button before moving to the next screen.

Riformation aud Techuofogy for Better Decision Making

[OMDC|

g

{.:" DLPT Testing
==

Candidate Logon

The Test Administrator has sucessfully logged in.
ser IO

CAC Logon




The next screen provides a list of tests for which the examinee is eligible; the examinee
selects the appropriate test from the list.

leformation and Technology for Bettor Decision Making

[DMDC|

s

{.:" DLPT Testing
==

Urdu Reading

Take Test

Urdu Listening

Take Test




Once the test has been selected, a series of introductory screens appears. These screens
contain the Privacy Act Statement, the Disclaimer for Defense Language Institute Tests,
the Test Administration Statement (of the examinee’s ability to take the test at that
time), and the Non-Disclosure Statement. The examinee must click on the indicated
checkboxes under the Disclaimer and the Non-Disclosure Statement before moving to
the next screen.

DLPT 5 Listening Comprehension Test for Russian Form A

Defense Language Proficiency Test 5 Please DO NOT START until told to do so.
Multiple Choice Format

If you have difficulty with the instructions or any
functions of this test, please raise your hand and the
Test Administrator will assist you.

FOR OFFICIAL USE ONLY

Controlled Item (Test Material)

Russian

Language Code RU

Mot to be shown to unauthorized persons

LiStEI'IiI'Ig Comprehension Mot to be reproduced without authority granted by the Commmandant
Defense Language Institute Foreign Language Center
Form A
To begin the test, click the Begin button below,
Help Introduction: Screen 1 of 7
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DLPT 5 Listening Comprehension Test for Dari Form A

Privacy Act Statement:

Disclosure of requested information is solicited under the
authority of Title 10, United States Code 3012, Executive
Order 9397 and Army Regulation 600-2 and is mandatory.
Social Security Number is used as the personal identifier
number of all personnel under control of the Department of
Defense, and is used in connection with updating
information in official records and training files. Use of
Social Security Number provides for objective scoring of
Defense Language Institute tests, as the student's Social
Security Number is the only identifier so as to maintain
confidentiality when reporting test scores to students.
Failure to provide Social Security Number may result in
misidentification and non-credit for tests, and,/or
inadequate counseling and guidance,

Introduction: Screen 2 of 7

Disclaimer for Defense Language Institute Tests:

Materials for this test come from authentic sources within
the target culture. These sources often include
conversations or written material of a controversial nature,
which are essential for understanding world events, As a
result, there may be topics, ideas, and language in the
areas of politics, international relations, mores, etc. that
may be considered contentious. The presence of
controversial statements on a test should not be construed
as representing the opinions of the test development team,
the Defense Language Institute Foreign Language Center,
or the Department of the Army.

7 I confirm having read and understood both the
Privacy Act Statement and the Disclaimer.

Click on the checkbox above to confirm.

12



DLPT 5 Listening Comprehension Test for Dari Form A

Test Administration Statement:

I understand that I am not required to take the Dari
Listening Comprehension Test at this time if there are
extenuating circumstances, such as fatigue, illness,
emotional distress, family or financial problems, etc.,
which may interfere with my performance on the test; and
that the test will be administered at another time
acceptable to me, the Test Administrator, and my unit
commander,

Help Introduction: Screen 3 of 7

Non-Disclosure Statement:

I understand that this test is FOR OFFICIAL USE OMLY and
the unauthorized discussion, disclosure or possession of
any part of this test is a violation of Article 92, Uniform
Code of Military Justice, and will result in appropriate
administrative action to fix responsibility for such
unauthorized behavior with criminal sanctions of up to two
years hard labor and dishonorable discharge for those
involved. Such unauthorized discussion or disclosure refers
to RELATING ANY ASPECT OF THIS TEST TO ANYONE,
including an instructor, fellow service member, spouse, or
class member.

I I confirm having read and understood both the
Test Administration and the Non-Disclosure
Statements.

Click on the checkbox above to confirm.

13




The next few screens contain examples of the screen layout for examinees to familiarize
themselves with the features of the test, instructions for taking the test and a sample test
passage. The text and questions in these screens appear smaller than the text and
questions on the actual test passages.

Reading comprehension test

Example of screen layout for the reading comprehension test: The example text represents a
generic foreign language; it is not meant to be legible. Explanations of the parts of the screen are
provided.

DLPT § Lower Range Reading Comprehension Test for Russian Form A

Example of Screen Layout

Familiarize yourself with the features of this screen now.

DRIENTATION STATEMENT DLPT 5 Muitiple Cholce Test for Reading Comprehension Lenguage X Formx Section 1 of 3 TITLE BAR
5 . =] *indicates the test title
*explains source of S R 1. Vi il 10 i il adionat b S and section.

Rassegs e Englsh. TLXXXXYY Y XYXYX XYYV YYYY i 0 o e g A

XXXY VYWY XXX YYVY XXXXY YV X
XXX XAYICONE XYY i, ]
XXV XX XPXVXY XYYYY XY XYYYXYXX, 17 Thiey s s sigrific.amtly canitionns in the Last fiw years. P

I Theey hase [seen & fasocite tanget of politichans.

1 Theey oee priesaey pelitic sl figuees,
FOREIGN LANGUAGE PASSAGE

*Peragrephs are markes T2 RNV XYYYORY XYY YOO YV ' * To choose an answer,
1,12, ete YIOPOYE VY OP OO VXYY Y 2. What s the author*s parponse in dioussing this ket
s click the button next
YXPRKEX XYEY YHYXY XYRY XVYEYYX 7 o highlght the corvption of thi carront sysbem. to that [hOiCE

* If a question asks about
a spedific word or phrase
it is highlighted in red in

Vo woig st sl i1 b hikghoee schusbone of e erdifany.

XYYV VXYY XYY XYY r
00V XN XYY IO XY Mo conmrite b il s
XYXYUYHXY XYY YAYYX YEY XYY, -

the text, (Bl WACREC bl i i M8 Chi . + To change an answer,
HAVAVVOE XVAYAY XYYV VXYY 3. thy wnhing e expresakom o Y XY XY XXY XYYX YXYYX » click the button next
XYXY XYXVXYXYEYX XYXYXVH XVEYX i to a different choice,
16 B8 SHowr e rapr asanis X.Yx‘(x\fx‘lr. xfx‘dx\{ xmxx x*x\'ix i g the ey of & Cov e sy
'_I ar t XY XA IO WYY XYY 0 il e o tance of G @ tion.
XY X, ™ s the el doers,

* A red line indicates the ™ shew thee hivtorical roots of the v,

end of the passage. End of this passage

Mark this passage for later consideration. + A red line indicates the
| = e
Enil of questions for this passage endof the questions.
* To see the entire passage
you may need to scroll.
sTATUS BAR [EEEENIELE 3questions Testendsin: 37:39 . NAVIGATION BUTTONS
| Go to:
Passage & & of Questions Time remaining Previouws  Mest
Total # of Passages Tor this passage Passage Passage
| Help | Intreduction: Serean 5 of 6

14



Instructions screen for the reading comprehension test:

DLPTS Lewer Ranpge Reading Comprehenslen Test for Russlan

IMETRUCTIONS

Read the short statemant befare 2ach passage that kells you whare the passage came fram.

Faad the passags and the guasticn ar quastions zarafully, $ocme quastiens may be in tha form ef an
incomplste stabemant.

Eated an what you have read 0 the passags, chease cthe bt answar b 2ach questien fram ameng the
four answer cheleas. The answer te 2ach quesdon may be starad ovardy In die passage or only Inplled.

Clizk am the button ne st b the answer you have chosen. You may change your answer by clicking en a
differant bubbon.

Clizk am the [Maxt] butten ot tha bettom rinht af the sereen ta ga ta the nest passaos.

Thara iz no panaky for qguezsing: tharafore. it iz ko your adrantsga ta ansvier all of tha questions.

A sample passage follows an the next screaen.

K you nesd help during the test, click on the [Help] button.

Introduction: Sereen 6 af G

15



The next screen contains one sample passage with its associated question or questions.

Example of a reading sample passage:

DLPT 5 Lower Range Reading Comprehension Test for Russian Form A

Sample Passage

An excerpt from a letter to the editor of a newspaper S1. What is the writer concerned about?

H, KAK I MHOTII® MOCEBITYIL ICNEITEIE A 00E LIOLE r— Findin§ gﬂcd ﬂmpl'ﬂyﬁﬁs nﬁwadavs in MGSCOW.
TPYIHOC TH B MocdegHee pena. B cTomme Hemerko .
("' The cutthroat competition among university students.

VETPONTE CA M0 ¢MelIAMBHOE T, 0¢00eHHO ICReHepY, IT0
B8 COTI0EY, Y0 MECKEIFTES M YIS ANt KANSeE ro (" The declining quality of teaching at many universities.

BRIIYCKAKT TRICAYN CIISLIIATIIC TOR, [ KAKIbINT 1T HIIX X04eT (" Securing employment in his field in Moscow.

ocTarbeA B Mockpe, KoHKYpeHIDLA 0MeHE BBICOKAA, 11

HHOTDA HY AHBI MeCAIBL, ‘IT“GH HAIITIT pAavoTy. End of questians for Sample Passage

End of this pascage
Miak (les passage tor later consideration. [

| Help | Sample Passage 1 question << Back Next >>

16



After the sample passage, the examinee clicks on the [Next] button and moves to the
test start screen.

Test Start Screen for the Reading Test

DLPTS Lower Range Reading Comprehension Test for Language X Form A

End-of-Test Review Information

After the last passage, if there is still time on the clock, you
will have the opportunity to review your answers before
submitting the test.

From the review page you will be able to jump to any given
passage.

You will be able to change any answer or respond to any
questions you have not answered.

Detailed instructions for this review will be given at the end
of the test.

End of Instructions

17

Test ends in:

Start of Test

This reading test section contains:

43 passages and

61 questions.

You are allowed 3 hours to complete the test.

There will be a break after 90 minutes. The break does not
count against your time.

When you are ready, click the [Start Test] button below.

The screen will move to Passage 1 and the clock will begin.

180:00 minutes Start Test




DLPTS Multiple Choice Test for Listening Comprehension

Listening comprehension test
Example of screen layout for the listening comprehension test:

DLPT S Lower Range Listening Comprehension Test for LanguageX Form A

Example of Screen Layout

Familiarize yourself with the features of this screen now.

Passage A5
This passage is takan from a news broadeast.

Language X Formx

1. What does the author claim about his sources?

(& They are a major players in the governmental sector.
" They are primary political figures,
[ They have been significantly cautious in the last few years.

IT They have been a favorite target of politicians.,

2, what is the author's purpase in discussing this issue?
(" To highlight the corruption of the current system,
(" Toexpose traitars in the bigher echelons of the miitary.

™ Tocontribute to public awarensss.

TITLE BAR
+ indicates the test title and form

DRIENTATION STATEMENT
+ explains source of passage in English.

QUESTIONS

+ To choose an answer, click the button next
to that choice.

+ To change your anwer, click the button
next to a different choice.

+ A red line indicates the end of the questions.

(™ To criticlze those not paying attention.

+ To see all the questions, you may need to
scroll.

End of thiz passage.

Mark this passage for lster considerstion (|

STATUS BAR shows:

+ Current passage number

+ Total number of passages

+ Number of questions for current passage
+ Timer Status

Passage 5 of 40 2 questions Test ends in: 178:02 + Play Audio Button

Play Audio

# of Questions
for this | q

Passage #
Total # of P

To hear the audio for a
passage, click this button.

Time Remaining

Introduction: Screen b of 7
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The next two screens contain instructions for the listening comprehension test. Note that
examinees may select their answers to the questions while the audio is playing.

_| DLPT 5 Lower Range Listening Comprehension Test for Languagex FormA

Test Sequence The Clock

When a passage screen opens, you will see its passage + The amount of time allotted for this test is 180 minutes
number, orientation statement, and the question or ( 3 hours).
questions with their answer choices.

+ There is a break in the middle of the test. It does not
At the bottom of the screen is a [Play Audio] button. count against your time.
When you click it, the audio will begin. The phrase

"Audio Playing’ will be displayed in the status bar. o Itis your responsibility to keep track of where you are

in the test, and how much time is remaining.
You may answer questions at any time during the
playing of the audio.

You may not move to the next passage until the audio BEROREYOURROCEED, adjust yaur volume:

finishes playing. When the audio finishes, the [Next] o
button appears at the bottom of the screen. Click it 4”5 SWmE

when you are ready to move on to the next passage, .

You will not be able to go back to previous passages Click the [Test Volume] button to hear a short audio file.
until the end of the test.

The [Help] button appears at the end of the audio
playing for each passage. If you need help concerning
a passage, click the [Help] button before moving to the
next passage.

Introduction: Screen 6 of 7
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DLPTE Lawer Ranpe Listening Gomprehension Test for Chinese Mandarin

ATTENTICH: You should hear a volee reading the Instructlons balow.

IFtha audla 12 rar elaar ar laud snoeugb, ealss yaur hand faw be alerr tha Tate Gdrilnlstracar

UWHen 3 passage stresn opens. yau Wil sse 3 shott staternent In English thae explalne the concest frem whish the passage
was taken. and belawr that. the questlon or questlons assoclace d widhdie pascage.

When geu are ready ta hear the passage, slick on the [Play Sudie] buttan lecated atthe bottam right comer afthe sersen.

‘fau will tham hear tha shert stotemant in English fellowed by the passags, Passages atthe beginning of the test will be
playad anly ance. &ftar 2 certain paint in the task, passapes will be played brica. Yau will ba told when you reach that
peint. Thars Wil b & thert ears lgnal bersear the tara playings.

Wau de nat bave ca wak undl the passage has finlskhad playing te begln answerlng die quasdons. After headng the
passags youwlll be remlnded to answer die questlon ar questlons. Fead 2ach questlan and ks answer chelees carefully,
Same guestions may ba imthe Ferm of anincomplete skakement.

Eased on what yau hava heard inthe passage. choase the best answar te aoch question fram ameng the Faur answer
choicas. The anzwer be aach question may be stoted avartly in the passage ar only impliad.

ClleE on the Buttol neo B e ARSWER Yol have chaseh. Vau may change yeur answ=r by ¢llsking on 3 differene butten.
Cllek sn tha [Meot] bumear aeths battens Fphe of thes seraet to go 1o the KRaYE pASSSJE.

There Is ne penalty far guessing, s 1 1< 1o wour advancage co answer all of the questlens.

A zample passadge follews on the next scresn.
I you nesd help during the test, click on the Help] button.

Inreduetian; Sereen T of 7 Audia Playing

20



Example of listening sample questions (the sample passage audio is played while the screen is
displayed):

DLPT 5 Lower Range Listening Comprehension Test for LanguageX FormA

Sample Passage 51

This passage is a public announcement.

1. What is one thing said about the event?

¢~ Itis open to the general public.
™ It will have a tourism exhibit.
{0 It will offer a variety of goods at low prices.

{™ Itfeatures a variety of food stands.

End of questions for Sample Passage

Mark thiz passage for later considerstion. O

Sample Passage 1 question

21



After the sample passage, the examinee clicks on the [Next] button and moves to the
test start screen.

DLPT 5 Lower Range Listening Comprehension Test for LanguageX FormA

End-of-Test Review Information

At the end of the test, if there is still time on the clock.
you will have the opportunity to review your answers
before submitting the test.

From the review page you will be able to jump to any
given passage.

You will be able to respond to any questions you have
not answered, or change an answer.

You will not hear the audio again during this review
period.

Detailed instructions for this review will be given at the
end of the test.

Help

End of Instructions Test ends in 180:00

22

Start of Test

This listening test contains 40 passages and 61 questions.
The test is 180 minutes (3 hours) long.

There will be a 15 minute break after Passage 22. The break
does not count against the total time allowed for the test.

When you are ready, click the [Start Test] button below.

The screen will move to Passage 1 and the c¢lock will begin.

| Back [N start Test



End-of-Test Review Information

At the end of each test, a review screen appears for examinees to review their responses
to the questions before submitting the test.

From the review page, examinees will be able to jump to any given passage.

They will be able to respond to any questions they have not answered, or they can
change an answer.

The audio for the Listening Test will not be played again during this review period.

Example of the review screen:

DLPT 5 Lower Range Reading Comprehension Test for Russian Form A

End of Reading Test

Inthe chart below, an asterisk (*) in the Answer column means that you have answered a question.

If you see the word Q[T it means that ne answer has been registered for this question.

If you see an X nextto a passage number, it means that you marked that passage for further consideration as
you were taking the tast.

To reviewlchange any answer, ¢lick the row below which corresponds to the question number.

Passage 0O # Answer Passage 0% Answer Passage 07 Answer Passage O F Answer
1 1 * 17 17 29 33 ki 18 *
18 18 30 34 4% *
19 19 i 35 39 50
20 36 2
20 21 37 40 52
21 22 iz i8 53
22 23 34 54
23 24 i3 10 55
9 ‘ 24 25 34 # . 56
10 26 35 a2 57
" : 25 27 43 58
12 28 36 H 5%
13 26 29 45 : G0
14 ) 2 30 3 46 61
15 28 ] ar
16 32

+« When you are satisfied and are ready to submit your test, click the [Submit] button below.

Review Answers Test ends in: 176:56

23



Sample Passages

The purpose of this section is to familiarize prospective examinees on the levels and
types of passages as well as their associated questions that appear in the MSA DLPT 5
test in multiple-choice format. Below are some sample passages from ILR levels 1 - 4 in
reading and listening, and their associated questions and answer choices. Explanations
of the best answer for each question are also provided. Examinees should know that
study aids (i.e., dictionaries, reference books, etc.) are not permitted during the test.
Note-taking is also not permitted during the test.
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Reading Passages

Level 1

Passage 1: From an ad in an Arab magazine
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1. What do Crowne Plaza Hotels offer in this ad?

(A) New summer deals.
(B) Special vacation packages.
(C) New weekend rates.

(D) Discounts for families.

The best answer is (C).

Explanation:

A. Although there is reference to new deals, there is no mention of summer. Therefore,
A is not the best answer.

B. Although the Arabic word used for weekend could also mean “vacation”, option B is
incorrect because there are no “vacation packages” in the ad.

C. The word “now”, repeated twice in the ad, means that something new is announced.
The ad offers a weekend rate, accompanied with the adverb “only”, and presented as
making the cost of a weekend at one of Crown Plaza hotels less than anytime before.
Therefore, C is the best answer.

D. Although the ad mentions “family”, the rate mentioned is not a discount given to
families, but the weekend rate of a room at any of Crown Plaza hotels for all
customers. Therefore, D is not the best answer.
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Level 2

Passage 2: From the local news section in an Arab newspaper
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2. According to the text, which of the following best describes the practice discussed in the
passage?
(A) A marketing device.
(B) A seasonal occupation.
(C) A tourist attraction.
(D) A traditional activity.

The best answer is (D).

Explanation:

(A) There is no mention in the passage of any person or business using the vendors’ services as a
marketing tool. Therefore, A is not the best answer.

(B) There is no mention in the passage of the coffee service being a seasonal occupation. Therefore,
B is not best answer.
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(C) While the text says that the coffee vendor stays near tourist areas, there is no indication that the
activity is limited to tourists, nor that it is aimed at attracting tourists. Therefore, C is not the best
answer.

(D) According to the text, the serving of coffee is presented as an Arab tradition, requiring special
preparation. Its purpose is to offer people the original Arab coffee. Furthermore, the vendor wears
traditional clothing while serving the coffee. Therefore, D is the best answer.

3. What does Abu Ali say about the coffee he serves?

(A) It is priced affordably.
(B) It requires a special recipe to make it.
(C) It requires special cups for serving it.

(D) It is offered according to a ritual.

The best answer is (B).

Explanation:

A. According to Abu Ali’s statement in the second paragraph, there is no price on the coffee. It is
offered freely, and the decision whether to pay, as well as the amount, are left to the discretion of
the individual. Therefore, A is not the best answer.

B. In the second paragraph, Abu Ali says that making Arab coffee requires specialization and the use
of a specific recipe. Therefore, B is the best answer.

C. While serving the Arab coffee is usually done in special cups, there is no mention of specific cups
in Abu Ali’s statement. Therefore, C is not the best answer.

D. Abu Ali indicates that he wears the traditional attire of his region, but this does not
constitute a ritual for serving the coffee itself. Therefore, D is not the best answer.

4. What does Abu Ali say about his patrons?

(A) Visitors from the countryside pay the least.
(B) Local people show little interest.
(C) Visitors from the Gulf are the most appreciative.

(D) Western tourists are bewildered.

The best answer is (C).
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Explanation:

A. There is no mention in Abu Ali’s statements of what people from the countryside pay

B.

C.

to vendors. Therefore, A is not the best answer.

There is no mention of the reaction of locals in the text. Therefore, B is not the best
answer.

According to Abu Ali, many people pay generously for the coffee. He points
specifically to those from the Gulf, saying that they “pay good money” to show their
gratitude and their appreciation to Abu Ali for his coffee. Therefore, C is the best
answer.

. Abu Ali indicates that “foreign” tourists, meaning non-Arab tourists, are not among

his patrons. These tourists prefer the coffee served in coffee shops and restaurants.
Therefore, D is not the best answer.

5. The underlined word in the first paragraph Q-%S is closest in meaning to

(A)arbitrarily.
(B) freely.
(C) casually.

(D)randomly.

The best answer is (B).

Explanation:

A. The underlined word in the first paragraph can mean “arbitrarily,” but not in this

context. The coffee is being offered for the purpose of obtaining some form of
reward, be it monetary or the satisfaction of the giver. While the coffee is offered to
all passersby, it is targeted to tourists and visitors from the Gulf states in particular.
Therefore, A is not the best answer.

. The underlined word in the first paragraph is closest in meaning to the word “freely.”

The coffee is offered freely to passersby in two senses. First, it is offered without
soliciting money. Secondly, the decision whether or not to accept the coffee and/or
pay for it is left to each person’s discretion. In this context, B is the best answer.

The underlined word in the first paragraph may mean “casually,” but not in this
context. The described activity is obviously well thought-out and carefully executed.
Therefore, C is not the best answer.

The underlined word in the first paragraph can mean “randomly,” but not in this
context. There is no indication in the first paragraph that the coffee is offered to some
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people and not others for some formulated reason. It is offered to all passersby.
Therefore, D is not the best answer.
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Level 3

Passage 3: From a 2002 commentary in an Egyptian newspaper
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6. In the first paragraph, what is implied about the security measures taken by the U.S.?

(A) They are unprecedented in the history of the U.S.
(B) They are causing serious concerns in American society.
(C) They are casting doubt on the U.S. commitment to human rights.

(D) They are in contradiction to values represented by American society.

The best answer is (D).

Explanation:

(A)Toward the end of the paragraph, the writer makes reference to American history,
labeling the current security measures as a “witch hunt,” therefore implying that these
types of operations have, indeed, occurred in the past. Therefore, A is not the best
answer.

(B) The first paragraph focuses on the concerns of the international community about the
effect of U.S. actions on human rights around the world. There is no indication in the
paragraph that American society is also concerned. Therefore, B is not the best answer.

(C) There is no implication in the first paragraph that international organizations are in doubt
over the U.S. commitment to human rights. There is no evidence presented in the
paragraph that the U.S. is cutting funding for human rights organizations or refusing to
participate in these organizations. Therefore, the C is not the best answer.

(D) The first paragraph opens with the explicit statement that the UNHRC is concerned about
the use of the “War on Terror” as a pretext to violate civil rights around the world. The
paragraph goes on to say that the primary point of concern is the U.S. itself, because of
the interrogation of Muslims living in the US. The paragraph also describes the actions
taken by US security agencies such as searching and detaining individuals on the basis of
their ethnicity or religious affiliation. The implication is that these types of actions are in
contradiction to the values inherent to democratic societies (i.e. the American society).
Therefore, D is the best answer.

7. What point does the writer make in the second paragraph about the U.S. anti-
terrorism campaign?
(A) It is inadvertently destroying its own efforts.
(B) It is inconsistently applying its declared principles.
(C) It is unwisely neglecting the participation of key players.

(D)1t is mistakenly arresting innocent people.
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The best answer is (A).

Explanation

(A) The writer explains in the second paragraph that the U.S. dragnet operation even
targeted those Muslim Americans who were trying to help in the “War on Terror.”
The writer concludes the paragraph with an explicit comment on how the American
anti-terror campaign is running counter to its goals, thus defeating its purposes.
Therefore, A is the best answer.

(B) The writer says that the functioning of American agencies is in a state of confusion,
resulting in their pursuit of those Muslims who support the anti-terrorism efforts. This
is inconsistent with the goals of the anti-terrorism campaign. The writer means that
these agencies are consistent in their indiscriminate targeting of American Muslims.
There is no mention of “declared principles.” There is only an allusion to the
President’s pledge not to show hostility towards Islam. But this pledge does not
constitute a “declared principle” of the “War on Terror” as such. Therefore, B is not
the best answer.

(C) The writer implies that the U.S. is failing to properly appreciate the assistance offered
by key players in the American Muslim community. But he does not say that the U.S.
is neglecting their participation, nor does he judge the treatment given to the
American Muslim figures as being unwise. Therefore, C is not the best answer.

(D) There is no mention in the second paragraph of innocent people being “arrested,” nor
does the writer characterize the actions mentioned as being done “mistakenly.”
Therefore, D is not the best answer.

8. What does the writer imply about some Arab commentators in the fourth
paragraph?

(A) They are eager to offer their expertise in dealing with terrorists.
(B) They are lenient toward the U.S. government’s excessive measures.
(C) They are exploiting the situation to justify their countries' dictatorial practices.

(D) They are missing the point that military tribunals are limited to extreme cases.

The best answer is (C).

Explanation

(A) The writer makes no allusion to the willingness of Arab commentators to offer their
expertise. He only alludes to their support for military tribunals. Therefore, A is not
the best answer.
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(B) According to the writer, the commentators do not see the American initiatives as
being “excessive,” but rather normal; consequently, the word “lenient” becomes
irrelevant. Therefore, B is not the best answer.

(C) According to the writer, some Arab commentators have been quick to point out the
advantages and qualities of military tribunals, thus presenting their use in Arab
countries as a precedent of which to be proud. The creation of these tribunals in the
U.S. gives these commentators an opportunity to brag about having them in their own
countries, where tribunals are used against the citizens as part of the repressive
methods of dictatorship. Therefore, C is the best answer.

(D) There is no mention of “extreme cases.” The tribunals are meant for non-citizens,
which Arab commentators overlook because in Arab countries, the tribunals are
meant for citizens. Therefore, D is not the best answer.

9. What point does the writer make in referring to European countries in the fourth
paragraph?
(A) The U.S. military tribunals are considered to be ineffective.
(B) The U.S. military tribunals are mainly intended for non-Europeans.
(C) The U.S. military tribunal system is inherently unjust.
(D) The U.S. military tribunal system has triggered protests from Europeans.

The best answer is (C).

Explanation:

(A) There is no mention of the effectiveness of military tribunals; on the contrary, the
expression “made-to-order” suggests that these tribunals may be effective for their
intended purpose. Therefore, A is not the best answer.

(B) According to the writer, the tribunals are mainly intended for non-U.S. citizens or foreign
nationals. The European countries intervened to have their nationals exempted from these
courts, which confirms that, in terms of status, the tribunals can apply to European
citizens. Therefore, B is not the best answer.

(C) According to the writer, European countries intervened to ensure their citizens a “just
trial before ordinary court,” which implies that the Europeans do not consider the newly
created military tribunals as providing a just process. Therefore, C is the best answer.

(D) The paragraph mentions European intervention to have European citizens exempted from
the new courts, but they did not go so far as to protest the tribunals. In fact, by seeking
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exemptions for their citizens, they are illustrating a tacit acceptance of the tribunals so
long as their jurisdiction is limited to non-Europeans. Therefore, D is not the best answer.

10. What prediction is implied in the last paragraph?

(A)The Americans’ overconfidence in their democracy will cause its decline.
(B) The U.S. will eventually cease being a world leader in democracy.
(C) The U.S. situation will awaken alternative forms of democracy elsewhere.

(D) The Americans will ultimately make their democracy prevail.

The best answer is (D).

Explanation:

(A) The last paragraph focuses on civil rights in the U.S. In the first sentence, it mentions that
civil rights have been the pride of American democracy. The paragraph warns against the
danger of losing these rights and, thus, the moral superiority they gave Americans. There
is a danger of “decline,” but the paragraph links this danger to civil rights and does not
make it the consequence of American “overconfidence” in its democracy. On the
contrary, the paragraph implies that the attachment of Americans to their democracy will
overcome the dangers threatening their civil rights. Therefore, A is not the best answer.

(B) In the first sentence, the writer warns against the prospect of the U.S. ceasing to serve as
a model in terms of civil rights. (The model of democracy it is offering the world may
cease, but this would not eliminate its leadership.) In his argument, this prospect should
prompt Americans to react by eliminating the loopholes created by the new measures. He
is confident American democratic forces will do just that, thus upholding the values of
American democracy. This prediction is the opposite of the one mentioned in option B.
Therefore, B is not the best answer.

(C) The writer predicts the “awakening” of American democratic forces to stand up against
the dangers threatening their civil liberties, and not the awakening of democracy in other
parts of the world. Therefore, C is not the best answer.

(D) The writer makes the argument that unlike developing countries, Westerners (i.e.
Americans) will not tolerate violations of their civil rights and personal freedoms for very
long. In the West, the “forces of democracy” (civil society, institutions, governmental
mechanisms, and political culture) stand up quickly to such violations in order to stop
them. He implies that the “forces of democracy” in the U.S. will have a strong reaction,
consequently making their democracy prevail over the threats it is facing. Therefore, D is
the best answer.
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Level 4

Passage 4: From a book review in an Arab newspaper
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11. According to the first paragraph, how does the writer view the importance of the book
reviewed?

(A) It highlights the difficulties encountered by developing countries in applying the principles
of democracy.

(B) It introduces a theoretical framework for the democratization of the regimes in developing
countries.

(C) It underscores the developing countries' need to modernize their cultural traditions in order
to join the developed world.

(D) It provides a systematic approach for the modernization of traditional political systems in
developing countries.

The best answer is (D).

Explanation:

The question is addressing the importance of the topic of the book. The answer is limited to the
first paragraph.

(A) The first paragraph does not address any attempts on the part of developing countries to
apply the principles of democracy. To the contrary, it discusses the reasons why these
countries are hostile toward democracy. Therefore, A is not the best answer.

(B) According to the reviewer, the focus of Hariq’s book is not on democratizing the regimes
of the developing world, but rather on how to find a reasonable compromise between the
traditional systems of the developing world and democracy. According to Hariq’s
analysis, the two must find a practical compromise for co-existence. Therefore, B is not
the best answer.

(C) There is no mention of cultural traditions in the first paragraph. The book is concentrating
on how to modernize political systems. Cultural traditions by definition cannot be
modernized and remain traditions. Therefore, C is not the best answer.

(D) Throughout the first paragraph, the book reviewer emphasizes that the importance of
Hariq’s book lies in its discussion of how developing countries can modernize their
political systems. Modernization is defined as reaching a compromise between traditional
political systems and democracy. Furthermore, the reviewer characterized Hariq’s
approach to his analysis as undeniably academic, which in this context means methodical
or systematic. D is the only answer choice that discusses the modernization of political
systems in terms of a systemic approach. Therefore, D is the best answer.
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12. How does the reviewer judge the writing strategy employed by the author of the book?

(A) The author uses too many references, thus hoping to gain credibility as a researcher.
(B) The author is too neutral, thus avoiding taking positions on the key issues he examines.

(C) The author quotes too many Muslim writers in order to demonstrate the extent of his
knowledge.

(D) The author is very cautious due to his vulnerability to the accusation of being prejudiced.

The best answer is (D).
Explanation:

The question focuses on the reviewer’s interpretation of Hariq’s reliance on Islamic sources in
his analysis.

(A) Although the reviewer mentions the use of numerous references in the book, he does not
judge this as a way to gain credibility as a researcher. On the contrary, the reviewer takes
Hariq’s researching ability for granted. Therefore, A is not the best answer.

(B) The reviewer never mentions that Hariq is neutral. Nor does he say that Hariq avoids
taking positions. The reviewer characterizes Hariq as cautious, not neutral. Therefore, B
is not the best answer.

(C) Although, the reviewer indicates the use of numerous citations in the book, he does not
judge this as aiming at demonstrating Hariq’s knowledge. In fact, the reviewer’s
underscoring of Hariq’s academic competence rules out such an interpretation the book’s
heavy reliance on Islamic sources. Therefore C is not the best answer.

(D) The reviewer points out that the author is Christian, which puts him at a disadvantage in
addressing Islamic issues. Therefore, the reviewer interprets Hariq’s use of numerous
citations from Islamic scholars as a strategy to forestall any criticism or suspicion. Thus,
the reviewer characterizes Hariq as being excessively cautious. Therefore, D is the best
answer.

13. What point is implied in the quotation in the second paragraph?

(A) The rejection of foreign cultures by Muslim societies is a pretext to maintain oppression.
(B) Muslims should find their own way to apply the principles of democracy.
(C) Muslims can benefit from adapting foreign avenues to achieve an ideal Islamic society.

(D) The reality of today’s world requires Muslims to invent novel ways to implement Islam.

The best answer is (C).
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Explanation:

The question focuses on the meaning of the quotation. It addresses the acceptability of using
outside avenues to achieve society’s ideals. The question is limited to the quotation presented in
the second paragraph.

(A) Although the notion represented by answer choice A is found in Muslim writing, it is not
addressed in this quotation. The quotation refers to borrowing from the governmental
methods of other societies as a means of combating the oppression of local rulers.
Therefore, A is not the best answer.

(B) While the citation implies that Muslims can find their own way to build an ideal society,
it recommends that they adapt democratic practices or mechanisms (not principles) from
the outside to meet their goals. They should continue to do this so long as they are unable
to invent their own mechanisms. Therefore, B is not the best answer.

(C) According to the citation, it is permissible and recommended for Muslims to borrow from
non-Muslims in order achieve an ideal that is in accordance with Islamic objectives and
values. The values enumerated in the citation are typical of those found in Islamic
philosophy and literature. The mention of democratic methods is a reference to non-
Muslim means that can be adapted to fit Muslim objectives. Therefore, C is the best
answer.

(D) Inventing new ways to implement Islam is not the focus of the citation. The citation is
about adapting existing, non-Muslim methods in order to meet Islamic goals. Therefore,
the D is not the best answer.

14. In the third paragraph, what position concerning justice does the reviewer derive from
the book?

(A)Islam recognizes the legitimacy of achieving justice through independent thinking.
(B) Religion provides a solid foundation for the achievement of justice.
(C) The establishment of democracy is conditioned upon attaining justice.

(D) There is a correlation between democracy and justice, though they are distinct concepts.

The best answer is (A).
Explanation:

The question focuses on how justice, religion, and democracy relate to each other. The answer to
the question is limited to the third paragraph.
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(A) The two citations presented in the paragraph imply that obtaining justice does not
necessarily have to be done on the basis of religious sources. Achieving justice, whether
through religion or through other avenues (i.e. independent thinking), is not incompatible
with Sharah. In the first sentence of the paragraph, the reviewer indicates Hariq’s indirect
criticism of those who rule out any form of justice not explicitly defined in Islamic
scriptures. Therefore, A is the best answer.

(B) The focus of the third paragraph is the idea that religious foundations are not essential for
achieving justice. Furthermore, the paragraph does not characterize the religious
foundations for justice. Therefore, B is not the best answer.

(C) The paragraph does not establish an order of precedence between justice and democracy.
It states that one cannot be discussed without considering the other. Therefore, C is not
the best answer.

(D) The paragraph states that there is a link between “social justice” (i.e. entitlements and
services provided by the government) and democracy, but it does not establish a
correlation between the concept of justice and the concept of democracy. Therefore, D is
not the best answer.

15. Which of the following best reflects the reviewer’s judgment about the book in the
fourth paragraph?

(A)He is surprised at the choice of comparison the author uses to illustrate the complexity of
Islamic culture.
(B) He is impressed with the author’s ability to refute a common belief about Islamic culture.

(C) He disagrees with the author’s suggestion that religious ideologies are responsible for
democracy’s setbacks.

(D)He supports the author’s idea that democracy is a political rather than a religious issue.

The best answer is (B).

Explanation:

The question focuses on the relationship between religion and democracy and whether religion
presents an obstacle to democracy. The answer is limited to the fourth paragraph.

(A) The paragraph ends with the comparison between Islamic culture and a doctor’s medical
bag, highlighting the flexibility of the culture in meeting various needs. However, there is
no surprise expressed by the reviewer. The way in which the comparison is presented
indicates the reviewer’s endorsement. Therefore, A is not the best answer.

(B) In the paragraph, the reviewer discusses the relationship between democracy and religion.
He stresses the difficulty presented in undertaking the task of examining religion’s role as
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an obstacle to democracy. He praises Hariq for successfully accomplishing this and for
being able to dispel the misconception that Islamic culture is incompatible with
democracy. Therefore, B is the best answer.

(C) The focus of the fourth paragraph is to show Hariq’s ability to demonstrate that religion
is not responsible for the difficulties faced by democracy. Therefore, C is not the best
answer.

(D) According to the first sentence of the paragraph, religion is not the source of democracy.
Democracy is a construct of political philosophy. The reviewer presents this idea as
Hariq’s belief; he does not pass any judgment on it or take any responsibility for it.
Therefore, D is not the best answer.

16. What does the reviewer imply in the last paragraph regarding the author of the book?

(A)He is braver than other Arab scholars in his approach to secularism in Islamic countries.
(B) He is innovative in his approach to the issue of clerical institutions in Islam.
(C) He is more comprehensive than previous researchers in studying Islamic regimes.

(D)He is tactful in discussing the relationship between government and religion under Islam.

The best answer is (A).

Explanation:

The question focuses on issue of secularism and Islam. The answer is limited to the last
paragraph.

(A) The reviewer sees Hariq as braver than other Arab scholars because, unlike the others, he
presents the possibility of separating religion from the state, even in Islamic countries.
Other scholars have lacked the courage to address the issue so forthrightly. Therefore, A
is the best answer.

(B) There is no characterization of his approach in the paragraph, and therefore no
“innovation”. According to the paragraph, Hariq simply disagreed with those who denied
the existence of clerical institutions in Islam. Therefore, B is not the best answer.

(C) The reviewer underscores the comprehensive aspect of Hariq’s research. The work is
comprehensive in that it encompasses all opinions about the relationship between
government and religion. The paragraph does not discuss studying Islamic regimes as
such. Therefore, C is not the best answer.

(D) To characterize Hariq's analysis of government and religion as "tactful" is incorrect. The
text does say that he addresses the issue in a neutral and objective way. This is not the
same as a "tactful" approach. Therefore, D is not the best answer.
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Listening Passages
Note: Examinees will not see passage transcripts in an actual DLPTS5 listening test.

Level 1

Passage 1: This passage is from a message left on an answering machine.
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1. What does the message inform the family of concerning Salwa?

(A) She has to continue with her diet for two more days.
(B) She has been diagnosed with ear infection.
(C) The pharmacy has requested the refill of her medicine.

(D) The doctor expects to see her in two weeks.

The best answer is (D).
Explanation:

(A) The message recommends that Salwa eats “light meals” with her medicine, but does not
specify what “diet” she is supposed to be on, and the message indicates that Salwa’s
treatment will last two weeks and not two days. Therefore, A is not the best answer.

(B) The message refers to Salwa’s “ear infection” as a previous condition already known by
Salwa’s parents, and does not mention any diagnosis or new development in Salwa’s
health. Therefore, B is not the best answer.

(C) The message is from Salwa’s doctor and not from the pharmacy, and the doctor informs
Salwa’s parents that the refill has been authorized. Therefore, C is not the best answer.

(D) The message says that the doctor will see Salwa in two weeks. Therefore, D is the best
answer.
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Level 2

Note: Examinees will hear each passage twice but will not see the passage in an actual
DLPT 5 Listening Test.

Passage 2: This passage is from a May 2003 BBC news broadcast from Baghdad.
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2. What is one thing the reporter observed in the zoo?

(A) Evidence of ongoing military activities.
(B) The disastrous effects of military attacks.
(C) The rescue of injured animals by soldiers.

(D) Apparent relief over the reopening of the zoo.

The best answer is (B).

Explanation:

(A) The reporter describes the effects of a military attack. He mentions several pieces of
damaged and abandoned military hardware, indicating that military activity has ceased,
and thus, it is not ongoing. Therefore, A is not the best answer.

(B) The description given indicates a great deal of damage to the zoo caused by military
attacks. The reporter mentions damaged military hardware, evidence of bombing, and
destroyed cages. Therefore, B is the best answer.
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(C) There is no description of soldiers rescuing animals. On the contrary, American soldiers
killed four lions. Therefore, C is not the best answer.

(D) There is no indication in the passage that the zoo has reopened. The reference to
recreation areas for families is not what the reporter saw, but is part of the background
information he provides. Therefore, D is not the best answer.

3: What did the supervisor, Mr. Abdul Hassan, report?

(A) The zoo lost most of its wild animal species.
(B) Rare birds were taken.
(C) A new shipment of animals was stolen.

(D) Fish tanks were destroyed.

The best answer is (D).

Explanation:

(A)It is true that the zoo lost many of its animals. But the question specifically asks what Mr.
Abdul Hassan, the keeper of the fish tanks, reports. The information about the zoo
animals is presented by the reporter and does not refer to the fish tanks. Therefore A is
not the best answer.

(B) It is true that rare birds were taken, but this is part of the reporter’s observations; it is not
reported by Mr. Hassan, the keeper of the fish tanks. This option has nothing to do with
Mr. Hassan’s area. Therefore, B is not the best answer.

(O) It is true that a shipment of animals was taken, but this was not reported by Mr. Hassan. It
is attributed to other eyewitnesses. Therefore, C is not best answer.

(D)Mr. Hassan, the keeper of the fish tanks, reports that what was too heavy to be taken was
smashed. He is referring to the fish tanks. Therefore, D is the best answer.
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Level 3

Note: Examinees will hear each passage twice but will not see the passage in an actual
DLPT 5 Listening Test.

Passage 3: This passage is from a June 2003 BBC interview with a Palestinian activist.
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4: What could be inferred from the interviewer’s questions and comments about the
Palestinian armed resistance?

(A) Its continuation is threatened by mounting pressures.
(B) Its relevance is challened by the implementation of the peace initiative.
(C) Its influence is challenged by recent shifts in public opinion.

(D) Its resilience is put to the test by difficult choices.

The best answer is (A).
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Explanation:

(A) The interviewer opens by asking the activist about eventual Palestinian compliance with
Israeli demands to curb violence. He alludes to the fact that the demands are not solely
those of Israel. The reporter also mentions the U.S. proposed Road Map to Peace that
would presumably do away with the need for violence. He indicates that the Palestinian
leadership has accepted it. Thus, the premise of the interviewer’s questions is that the
continuation of the armed resistance is threatened due to national and international
pressures. Therefore, A is the best answer.

(B) The relevance of the armed resistance is not yet an issue since no peace initiative has
been implemented. The reporter’s question is purely hypothetical. In addition, the host
refers directly to the Road Map, which is not a peace initiative as such. Therefore, B is
not the best answer.

(C) The interviewer does not mention public opinion. All of the questions are focused on the
potential response of the armed resistance to a peace plan. The only reference to public
opinion is made by the interviewee. Therefore, C is not the best answer.

(D) The reporter does not frame his questions in terms of "difficult" choices currently facing
the armed resistance. He is asking a hypothetical question about how the armed resistance
would redirect or alter its actions if a peace plan were to be implemented at some future
date. There is no indication that the resilience of the armed resistance is being tested.
Therefore, D is not the best answer.

5: What is the basis for the interviewee’s confidence?

(A)He expects the Palestinian leadership to reject the new proposals.
(B) He believes the government will submit to the will of the people.
(C) He thinks the government is unwilling to crack down on the resistance.

(D) He trusts the Palestinian people’s determination to fight the occupation.

The best answer is (B).

Explanation:

(A) The activist does not deny the Palestinian leadership’s support for the Road Map, which
are the “new proposals”. Therefore, A is not the best answer.

(B) The activist repeatedly refers to the popular support of the Palestinian public for armed
resistance groups, as well as the unlikelihood that any Palestinian government would
counter the will of the people. He emphasizes this support in answering the interviewer’s
first and last questions. For the activist, there is no difference between the objectives of
the armed resistance and the popular will of the Palestinian people. In his final comment,
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he reiterates that no Palestinian government would crack down on armed resistance
groups, because it is inconceivable that the government would fail to respect the will of
the people. Therefore, B is the best answer.

(C) The interviewee implicitly recognizes that the Palestinian leadership has accepted the
Road Map (which calls for halting armed resistance). Thus it is illogical that he would
base his confidence on the Palestinian government’s unwillingness to crack down. He is
counting on the support of the people to fend off any attempts to crack down. Therefore,
C is not the best answer.

(D) The whole interview is focused on what the resistance groups will do if the Palestinian
government agrees to crack down on them as part of the implementation of the Road
Map. The only role given to the people by the interviewee is to support the armed
resistance. He is quite certain that the Palestinian people will continue to support the
armed resistance against the Israeli occupation so long as the occupation continues. He
does not mention the people themselves fighting the occupation nor does he expect them
to do so. Therefore, D is not the best answer.

46



Level 4

Note: Examinees will hear each passage twice but will not see the passage in an actual
DLPT 5 Listening Test.

Passage 4: This passage is from a book review broadcast on TV.
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6: Which of the following best reflects the significance of Turaby’s book?

(A) He derives a modern political system from well-established Islamic traditions.
(B) He reconciles Islam with modernity through the reinterpretation of Islamic notions.
(C) He calls for the revival of Islamic values in order to meet the challenges of modernity.

(D) He realizes the modernization of Islam through borrowing from democratic practices.

The best answer is (B).

Explanation:

(A) According to the speaker, Turaby is not developing any political system based on “well-
established Islamic traditions.” There is no reference to traditions in the speaker’s
discourse, only to values and concepts. According to the speaker, Turaby is constructing
his system on the basis of Islamic concepts. Therefore, A is not the best answer.

(B) According to the speaker, Turaby has reinterpreted the Islamic notion of Ijtihad. Ijtihad
was originally a concept limited to the elite: those trained in jurisprudence, science,
religion, etc. This elite instructed the public. For Turaby, Ijtihad is a notion that is now
open to all people. He does the same with Shura. Rather than viewing it according to its
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original definition as consultation between the government and the religious and
intellectual elite, he sees it as multifaceted dialogues in which all parts of society would
participate. Thus, through his reinterpretation of these notions, he brings Islam closer to
the modern concepts of government. Therefore, B is the best answer.

(C) The reference to the “revival” of the values upon which Turaby bases his analysis is
oxymoronic, since it implies that they were dead and needed to be resurrected. These
values are an inherent part of Islam, and he is reinterpreting and combining them to fit
modern needs. Therefore, C is not the best answer.

(D) The values presented by Turaby and explained by the speaker are not borrowed from the
outside, but are inherent to Islam. Therefore, D is not the best answer.

7: According to the speaker, which of the following best reflects the method used by
Turaby in his book?

(A) Blending together disparate ideas to build a personal philosophy.
(B) Developing a progressive sequence of logical causes and effects.
(C) Combining distinct concepts to construct a coherent ideology.

(D) Drawing new concepts from an examination of customary practices.

The best answer is (C).

Explanation:

(A) According to the speaker, Turaby does not blend disparate (i.e., completely unrelated)
ideas, nor is he developing a personal philosophy. He is constructing a modern political
system for government based on distinct, but compatible, Islamic concepts. Therefore, A
is not the best answer.

(B) According to the speaker, the political system developed by Turaby is not a progressive,
linear sequence of concepts, but rather a mutually dependent association of concepts (i.e.,
each concept interacts with the others in a continuous cycle). Therefore, B is not the best
answer.

(C) According to the speaker, Turaby builds a system around compatible, though distinct,
Islamic notions that were not previously intended to constitute a comprehensive political
system. His interpretation of the notion of ijtihad as open to the participation of all takes
him to the notion of Shura (interpreted as continuous dialogue), leading to ijmaa
(interpreted as a general consensus reached through the use of dialogue). Thus, he
constructs a coherent, political system rooted in Islam. Therefore, C is the best answer.

(D) According to the speaker, Turaby does not draw on new concepts; he draws on
fundamental Islamic concepts by reinterpreting them. He is not examining customary
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practices. There is no reference to such practices in the speaker’s discourse, only to
values and concepts. Therefore, D is not the best answer.
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Appendix A: Interagency Language Roundtable Language
Skill Level Descriptions

Preface

The following descriptions of proficiency levels 0, 1, 2, 3, 4, and 5 characterize spoken-
language use. Each higher level implies control of the previous levels' functions and
accuracy. The designation 0+, 1+, 2+, etc. will be assigned when proficiency
substantially exceeds one skill level and does not fully meet the criteria for the next
level. The "plus-level" descriptions, therefore, are subsidiary to the "base-level"
descriptions.

A skill level is assigned to a person through an authorized language examination.
Examiners assign a level on a variety of performance criteria exemplified in the
descriptive statements. Therefore, the examples given here illustrate, but do not
exhaustively describe, either the skills a person may possess or situations in which
he/she may function effectively.

Statements describing accuracy refer to typical stages in the development of
competence in the most commonly taught languages in formal training programs. In
other languages, emerging competence parallels these characterizations, but often with
different details.

Unless otherwise specified, the term '"native speaker" refers to native speakers of a
standard dialect.

"Well-educated," in the context of these proficiency descriptions, does not necessarily
imply formal higher education. However, in cultures where formal higher education is
common, the language-use abilities of persons who have had such education is [sic]
considered the standard. That is, such a person meets contemporary expectations for
the formal, careful style of the language, as well as a range of less formal varieties of the
language.

These descriptions may be further specified by individual agencies to characterize those
aspects of language-use performance which are of insufficient generality to be included
here.

Interagency Language Roundtable Language Skill Level Descriptions: Listening
Listening 0 (No Proficiency)

No practical understanding of the spoken language. Understanding is limited to
occasional isolated words with essentially no ability to comprehend communication.

(Has been coded L-0 in some nonautomated applications. [Data Code 00]

Listening 0+ (Memorized Proficiency)
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Sufficient comprehension to understand a number of memorized utterances in areas of
immediate needs. Slight increase in utterance length understood but requires frequent
long pauses between understood phrases and repeated requests on the listener's part
for repetition. Understands with reasonable accuracy only when this involves short
memorized utterances or formulae. Utterances understood are relatively short in length.
Misunderstandings arise due to ignoring or inaccurately hearing sounds or word
endings (both inflectional and non-inflectional), distorting the original meaning. Can
understand only with difficulty even such people as teachers who are used to speaking
with non-native speakers. Can understand best those statements where context strongly
supports the utterance's meaning. Gets some main ideas. (Has been coded L-0+ in some
nonautomated applications.) [Data Code 06]

Listening 1 (Elementary Proficiency)

Sufficient comprehension to understand utterances about basic survival needs and
minimum courtesy and travel requirements in areas of immediate need or on very
familiar topics, can understand simple questions and answers, simple statements and
very simple face-to-face conversations in a standard dialect. These must often be
delivered more clearly than normal at a rate slower than normal with frequent
repetitions or paraphrase (that is, by a native used to dealing with foreigners). Once
learned, these sentences can be varied for similar level vocabulary and grammar and
still be understood. In the majority of utterances, misunderstandings arise due to
overlooked or misunderstood syntax and other grammatical clues. Comprehension
vocabulary inadequate to understand anything but the most elementary needs. Strong
interference from the candidate's native language occurs. Little precision in the
information understood owing to the tentative state of passive grammar and lack of
vocabulary. Comprehension areas include basic needs such as: meals, lodging,
transportation, time and simple directions (including both route instructions and orders
from customs officials, policemen, etc.). Understands main ideas. (Has been coded L-1
in some nonautomated applications.) [Data Code 10]

Listening 1+ (Elementary Proficiency, Plus)

Sufficient comprehension to understand short conversations about all survival needs
and limited social demands. Developing flexibility evident in understanding a range of
circumstances beyond immediate survival needs. Shows spontaneity in understanding
by speed, although consistency of understanding is uneven. Limited vocabulary range
necessitates repetition for understanding. Understands more common time forms and
most question forms, some word order patterns, but miscommunication still occurs
with more complex patterns. Cannot sustain understanding of coherent structures in
longer utterances or in unfamiliar situations. Understanding of descriptions and the
giving of precise information is limited. Aware of basic cohesive features (e.g.,
pronouns, verb inflections) but many are unreliably understood, especially if less
immediate in reference. Understanding is largely limited to a series of short, discrete
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utterances. Still has to ask for utterances to be repeated. Some ability to understand
facts. (Has been coded L-1+ in some nonautomated applications.) [Data Code 16]

Listening 2 (Limited Working Proficiency)

Sufficient comprehension to understand conversations on routine social demands and
limited job requirements. Able to understand face-to-face speech in a standard dialect,
delivered at a normal rate with some repetition and rewording, by a native speaker not
used to dealing with foreigners, about everyday topics, common personal and family
news, well-known current events and routine office matters through descriptions and
narration about current, past and future events; can follow essential points of discussion
or speech at an elementary level on topics in his/her special professional field. Only
understands occasional words and phrases of statements made in unfavorable
conditions, for example through loudspeakers outdoors. Understands factual content.
Native language causes less interference in listening comprehension. Able to
understand facts; i.e., the lines but not between or beyond the lines. (Has been coded L-
2 in some nonautomated applications.) [Data Code 20]

Listening 2+ (Limited Working Proficiency, Plus)

Sufficient comprehension to understand most routine social demands and most
conversations on work requirements as well as some discussions on concrete topics
related to particular interests and special fields of competence. Often shows remarkable
ability and ease of understanding, but under tension or pressure may break down.
Candidate may display weakness or deficiency due to inadequate vocabulary base or
less than secure knowledge of grammar and syntax. Normally understands general
vocabulary with some hesitant understanding of everyday vocabulary still evident. Can
sometimes detect emotional overtones. Some ability to understand implications. (Has
been Coded L-2+ in some nonautomated applications.) [Data Code 26]

Listening 3 (General Professional Proficiency)

Able to understand the essentials of all speech in a standard dialect including technical
discussions within a special field. Has effective understanding of face-to-face speech,
delivered with normal clarity and speed in a standard dialect on general topics and
areas of special interest; understands hypothesizing and supported opinions. Has broad
enough vocabulary that rarely has to ask for paraphrasing or explanation. Can follow
accurately the essentials of conversations between educated native speakers, reasonably
clear telephone calls, radio broadcasts, news stories similar to wire service reports, oral
reports, some oral technical reports and public addresses on non-technical subjects; can
understand without difficulty all forms of standard speech concerning a special
professional field. Does not understand native speakers it they speak very quickly or
use some slang or dialect. Can often detect emotional overtones. Can understand
implications. (Has been coded L-3 in some nonautomated applications.) [Data Code 30]

Listening 3+ (General Professional Proficiency, Plus)
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Comprehends most of the content and intent of a variety of forms and styles of speech
pertinent to professional needs, as well as general topics and social conversation.
Ability to comprehend many sociolinguistic and cultural references. However, may
miss some subtleties and nuances. Increased ability to comprehend unusually complex
structures in lengthy utterances and to comprehend many distinctions in language
tailored for different audiences. Increased ability to understand native speakers talking
quickly, using nonstandard dialect or slang; however, comprehension is not complete.
Can discern some relationships among sophisticated listening materials in the context
of broad experience. Can follow some unpredictable turns of thought readily, for
example, in informal and formal speeches covering editorial, conjectural and literary
material in subject matter areas directed to the general listener. (Has been coded L-3+ in
some nonautomated applications.) [Data Code 36]

Listening 4 (Advanced Professional Proficiency)

Able to understand all forms and styles of speech pertinent to professional needs. Able
to understand fully all speech with extensive and precise vocabulary, subtleties and
nuances in all standard dialects on any subject relevant to professional needs within the
range of his/her experience, including social conversations; all intelligible broadcasts
and telephone calls; and many kinds of technical discussions and discourse.
Understands language specifically tailored (including persuasion, representation,
counseling and negotiating) to different audiences. Able to understand the essentials of
speech in some non-standard dialects. Has difficulty in understanding extreme dialect
and slang, also in understanding speech in unfavorable conditions, for example through
bad loudspeakers outdoors. Can discern relationships among sophisticated listening
materials in the context of broad experience. Can follow unpredictable turns of thought
readily, for example, in informal and formal speeches covering editorial, conjectural
and literary material in any subject matter directed to the general listener. (Has been
coded L-4 in some nonautomated applications.) [Data Code 40]

Listening 4+ (Advanced Professional Proficiency, Plus)

Increased ability to understand extremely difficult and abstract speech as well as ability
to understand all forms and styles of speech pertinent to professional needs, including
social conversations. Increased ability to comprehend native speakers using extreme
nonstandard dialects and slang, as well as to understand speech in unfavorable
conditions. Strong sensitivity to sociolinguistic and cultural references. Accuracy is
close to that of the well-educated native listener but still not equivalent. (Has been
coded L-4+ in some nonautomated applications.) [Data Code 46]

Listening 5 (Functionally Native Proficiency)

Comprehension equivalent to that of the well-educated native listener. Able to understand fully
all forms and styles of speech intelligible to the well-educated native listener, including a number
of regional and illiterate dialects, highly colloquial speech and conversations and discourse
distorted by marked interference from other noise. Able to understand how natives think as
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they create discourse. Able to understand extremely difficult and abstract speech. (Has
been coded L-5 in some nonautomated applications.) [Data Code 50]

Interagency Language Roundtable Language Skill Level Descriptions: Reading

R-0: Reading 0 (No Proficiency)
No practical ability to read the language. Consistently misunderstands or cannot
comprehend at all. [Data Code 00]

R-0+: Reading 0+ (Memorized Proficiency)

Can recognize all the letters in the printed version of an alphabetic system and high-
frequency elements of a syllabary or a character system. Able to read some or all of the
following: numbers, isolated words and phrases, personal and place names, street signs,
office and shop designations. The above often interpreted inaccurately. Unable to read
connected prose. [Data Code 06]

R-1: Reading 1 (Elementary Proficiency)

Sufficient comprehension to read very simple connected written material in a form
equivalent to usual printing or typescript. Can read either representations of familiar
formulaic verbal exchanges or simple language containing only the highest frequency
structural patterns and vocabulary, including shared international vocabulary items
and cognates (when appropriate). Able to read and understand known language
elements that have been recombined in new ways to achieve different meanings at a
similar level of simplicity. Texts may include descriptions of persons, places or things:
and explanations of geography and government such as those simplified for tourists.
Some misunderstandings possible on simple texts. Can get some main ideas and locate
prominent items of professional significance in more complex texts. Can identify
general subject matter in some authentic texts. [Data Code 10]

R-1+: Reading 1+ (Elementary Proficiency, Plus)

Sufficient comprehension to understand simple discourse in printed form for
informative social purposes. Can read material such as announcements of public events,
simple prose containing biographical information or narration of events, and
straightforward newspaper headlines. Can guess at unfamiliar vocabulary if highly
contextualized, but with difficulty in unfamiliar contexts. Can get some main ideas and
locate routine information of professional significance in more complex texts. Can
follow essential points of written discussion at an elementary level on topics in his/her
special professional field.

In commonly taught languages, the individual may not control the structure well. For
example, basic grammatical relations are often misinterpreted, and temporal reference
may rely primarily on lexical items as time indicators. Has some difficulty with the
cohesive factors in discourse, such as matching pronouns with referents. May have to
read materials several times for understanding. [Data Code 16]
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R-2: Reading 2 (Limited Working Proficiency)

Sufficient comprehension to read simple, authentic written material in a form
equivalent to usual printing or typescript on subjects within a familiar context. Able to
read with some misunderstandings straightforward, familiar, factual material, but in
general insufficiently experienced with the language to draw inferences directly from
the linguistic aspects of the text. Can locate and understand the main ideas and details
in material written for the general reader. However, persons who have professional
knowledge of a subject may be able to summarize or perform sorting and locating tasks
with written texts that are well beyond their general proficiency level. The individual
can read uncomplicated, but authentic prose on familiar subjects that are normally
presented in a predictable sequence which aids the reader in understanding. Texts may
include descriptions and narrations in contexts such as news items describing
frequently occurring events, simple biographical information, social notices, formulaic
business letters, and simple technical material written for the general reader. Generally
the prose that can be read by the individual is predominantly in straightforward/high-
frequency sentence patterns. The individual does not have a broad active vocabulary
(that is, which he/she recognizes immediately on sight), but is able to use contextual
and real-world cues to understand the text. Characteristically, however, the individual
is quite slow in performing such a process. Is typically able to answer factual questions
about authentic texts of the types described above. [Data Code 20]

R-2+: Reading 2+ (Limited Working Proficiency, Plus)

Sufficient comprehension to understand most factual material in non-technical prose as
well as some discussions on concrete topics related to special professional interests. Is
markedly more proficient at reading materials on a familiar topic. Is able to separate the
main ideas and details from lesser ones and uses that distinction to advance
understanding. The individual is able to use linguistic context and real-world
knowledge to make sensible guesses about unfamiliar material. Has a broad active
reading vocabulary. The individual is able to get the gist of main and subsidiary ideas
in texts which could only be read thoroughly by persons with much higher
proficiencies. Weaknesses include slowness, uncertainty, inability to discern nuance
and/or intentionally disguised meaning. [Data Code 26]

R-3: Reading 3 (General Professional Proficiency)

Able to read within a normal range of speed and with almost complete comprehension
a variety of authentic prose material on unfamiliar subjects. Reading ability is not
dependent on subject matter knowledge, although it is not expected that the individual
can comprehend thoroughly subject matter which is highly dependent on cultural
knowledge or which is outside his/her general experience and not accompanied by
explanation. Text-types include news stories similar to wire service reports or
international news items in major periodicals, routine correspondence, general reports,
and technical material in his/her professional field; all of these may include hypothesis,
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argumentation and supported opinions. Misreading rare. Almost always able to
interpret material correctly, relate ideas and "read between the lines," (that is,
understand the writers' implicit intents in text of the above types). Can get the gist of
more sophisticated texts, but may be unable to detect or understand subtlety and
nuance. Rarely has to pause over or reread general vocabulary. However, may
experience some difficulty with unusually complex structure and low frequency idioms.
[Data Code 30]

R-3+: Reading 3+ (General Professional Proficiency, Plus)

Can comprehend a variety of styles and forms pertinent to professional needs. Rarely
misinterprets such texts or rarely experiences difficulty relating ideas or making
inferences. Able to comprehend many sociolinguistic and cultural references. However,
may miss some nuances and subtleties. Able to comprehend a considerable range of
intentionally complex structures, low frequency idioms, and uncommon connotative
intentions, however, accuracy is not complete. The individual is typically able to read
with facility, understand, and appreciate contemporary expository, technical or literary
texts which do not rely heavily on slang and unusual items. [Data Code 36]

R-4: Reading 4 (Advanced Professional Proficiency)

Able to read fluently and accurately all styles and forms of the language pertinent to
professional needs. The individual's experience with the written language is extensive
enough that he/she is able to relate inferences in the text to real-world knowledge and
understand almost all sociolinguistic and cultural references. Able to "read beyond the
lines" (that is, to understand the full ramifications of texts as they are situated in the
wider cultural, political, or social environment). Able to read and understand the intent
of writers' use of nuance and subtlety. The individual can discern relationships among
sophisticated written materials in the context of broad experience. Can follow
unpredictable turns of thought readily in, for example, editorial, conjectural, and
literary texts in any subject matter area directed to the general reader. Can read
essentially all materials in his/her special field, including official and professional
documents and correspondence. Recognizes all professionally relevant vocabulary
known to the educated non-professional native, although may have some difficulty
with slang. Can read reasonably legible handwriting without difficulty. Accuracy is
often nearly that of a well-educated native reader. [Data Code 40]

R-4+: Reading 4+ (Advanced Professional Proficiency, Plus)

Nearly native ability to read and understand extremely difficult or abstract prose, a
very wide variety of vocabulary, idioms, colloquialisms and slang. Strong sensitivity to
and understanding of sociolinguistic and cultural references. Little difficulty in reading
less than fully legible handwriting. Broad ability to "read beyond the lines" (that is, to
understand the full ramifications of texts as they are situated in the wider cultural,
political, or social environment) is nearly that of a well-read or well-educated native
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reader. Accuracy is close to that of the well-educated native reader, but not equivalent.
[Data Code 46]

R-5: Reading 5 (Functionally Native Proficiency)

Reading proficiency is functionally equivalent to that of the well-educated native
reader. Can read extremely difficult and abstract prose; for example, general legal and
technical as well as highly colloquial writings. Able to read literary texts, typically
including contemporary avant-garde prose, poetry and theatrical writing. Can read
classical/archaic forms of literature with the same degree of facility as the well-
educated, but non-specialist native. Reads and understands a wide variety of
vocabulary and idioms, colloquialisms, slang, and pertinent cultural references. With
varying degrees of difficulty, can read all kinds of handwritten documents. Accuracy of
comprehension is equivalent to that of a well-educated native reader. [Data Code 50]
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